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Profession based puzzle

Directions (1-5): Answer the questions based on the 

information given below. 

There are eight employees of the company named as A, 

B, C, D, E, F, G and H. They have different designations 

starting from clerk, PO, Assistant Manager, Manager, 

Deputy General Manager, General Manager, Managing 

Director and Chief Managing Director. All the 

designations given are to be considered in a given order 

(as Clerk is considered as Junior-most rank and Chief 

Managing Director is considered as the Senior-most 

rank).  

Only three persons are junior to C. A is neither MD nor 

Clerk. F’s rank is either immediate above or immediate 

below to the person who is a Manager. E is three ranks 

senior to F. B is immediate senior to D. Both G and H 

are junior to A, but both are not immediate junior to him. 

H is senior to G.   

1) Which of the following statement/statements is/are 

not true? 

a) A is Deputy General Manager. 

b) The one who is Managing Director is immediate 

senior to B. 

c) The one who is PO is immediate junior to F. 

d) E is General Manager. 

e) Both b and c 

2) Who is the immediate senior to the one who is a 

Manager? 
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a) F 

b) E 

c) A 

d) C 

e) None of these 

3) Which of the following statement/statements is/are 

true? 

a) B is the Managing Director. 

b) A is immediate junior to the General Manager. 

c) F is an Assistant Manager. 

d) Both a and b 

e) Both b and c 

4) Four of the following five pairs of designations and 

employees have certain relationship between each 

other. Which one does not belong to the group? 

a) A- Managing Director 

b) C- General Manager 

c) E- Chief Managing Director 

d) H- Assistant Manager 

e) F- Deputy General Manager 

5) Who among the following are senior most and 

junior most employees respectively? 

a) E, G 

b) E, D 

c) B, G 

d) A, D 

e) None of these 

Directions (6-10): Study the following information 

carefully and answer the below questions.  

Six bankers hold different designations in the same bank 

viz.- General Manager (GM), Deputy General Manager 

(DGM), Manager (MG), Assistant Manager (AM), 

Probationary Officer (PO), and Clerk. They all are 

travelling to different tourist places viz.- Daman, Shimla, 

Goa, Leh, Kullu, and Coorg. Designations are given in 

descending order from General Manager to Clerk.  

Only two persons are designated between the one who 

travels to Goa and Coorg. The one who is travelling to 

Coorg is designated immediate next to the one who is 

travelling to Leh. The Assistant Manager is travelling to 

Daman. The one who is travelling to Kullu is neither a 

Manager nor the General Manager.  

6) Who among the following person travels to 

Shimla? 

a) Assistant Manager  

b) Clerk  

c) Probationary Officer   

d) General Manager   

e) None of these  

7) Which of the following statement is/are not true? 

a) Two persons are designated between the one who is 

travelling to Shimla and Daman. 

b) The one who travels to Kullu is designated immediate 

next to Probationary Officer.  

c) One person is designated between the one who is 

travelling to Coorg and Daman.  
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d) The one who is travelling to Goa is designated 

immediate next to Clerk.  

e) All of the above statements are true.  

8) Who among the following person is travelling 

immediate next to Coorg? 

a) Assistant Manager  

b) Clerk  

c) Manager  

d) General Manager  

e) None of these  

9) Four out of five are related to each other in some 

way and thus form a group, find the odd among the 

five? 

a) Shimla – Coorg  

b) Goa – Kullu  

c) Daman – Coorg  

d) Leh – Daman  

e) Coorg – Leh  

10) Which of the following combination is true? 

a) GM – Coorg  

b) Clerk – Shimla  

c) PO – Daman  

d) DGM – Goa  

e) Manager – Leh  

Directions (11-15): Study the following information 

carefully and answer the given questions: 

There are seven employees i.e., H, I, J, K, L, M and N of 

a company and all of them are working on seven 

different designations of a company viz. CEO, CFO, 

CTO, Managing Director, General Manager, Assistant 

Manager and Clerk but not necessarily in the same order. 

All the designations given are to be considered in a given 

order (CEO is considered as Senior-most and Clerk is 

considered as the Junior-most). 

Only two persons are senior to I. Only one person 

designated between I and N. There are more than two 

persons designated between J and N. J is not the junior-

most employee. There are more than two persons 

designated between K and J. K is senior to J. L is neither 

a General Manager nor Clerk. M is junior to H. 

11. Find the odd one? 

A. I, H 

B. N, L 

C. K, L 

D. H, M 

E. N, I 

12. Who among the following person is just senior to 

L? 

A. K 

B. H 

C. The one who is designated as CTO 

D. N 

E. None of these 

13. Who among the following person is the Clerk? 

A. I 
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B. J 

C. K 

D. M 

E. None of these 

14. How many persons are junior to I? 

A. Two 

B. As many persons designated between K and L. 

C. Three 

D. As many persons designated between N and J. 

E. None of these 

15. Who among the following person is the second 

junior-most employee? 

A. J 

B. M 

C. N 

D. H 

E. None of these 

Directions (16-20): Study the following information 

carefully and answer the below questions. 

Eight persons A, B, C, D, E, F, G and H are working in a 

bank with different grade positions such as Clerk, 

Officer, Manager, Senior Manager(SM), Chief Manager, 

Assistant General Manager(AGM), Deputy General 

Manager(DGM), and General Manager(GM). Their 

positions are given in ascending order such that General 

Manager is the highest position & Clerk is the lowest 

position. 

A is a Manager. Only one person holds a position 

between A and C. Atmost one person holding a position 

between C and G. Only two persons hold a position 

between C and D. The number of persons holding a 

higher position than D is one less than the number of 

people holding a lower position than F. E holds a 

position higher than F. E is neither Deputy General 

Manager nor Senior Manager. H is Junior to D but not a 

Clerk .  

16) Who among the following person is a Clerk? 

a) A 

b) G 

c) F 

d) B 

e) D 

17) Four of the following are alike in a certain way. 

Who among the following one does not belong to that 

group? 

a) A-Manager 

b) C-Chief Manager 

c) G-General Manager 

d) E-Assistant general manager 

e) B- Clerk 

18) Which of the following statements is/are true? 

I. A is a manager 

II. F holds aposition higher than B 

III. E holds a position higher than G 

a) Only I and II 
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b) Only I 

c) Only II and III 

d) Only II 

e) None of these  

19) How many persons are holding aposition higher 

than H? 

a) Three 

b) Two 

c) One 

d) Five 

e) Four 

20)If B is related to Officer and G is related to 

General Manager in a certain way, then who among 

the following is related to Deputy General Manager? 

a) F 

b) E 

c) D 

d) A 

e) None of the above 

Direction (21-25): Study the following information 

carefully and answer the questions below. 

7 persons A, B, C, D, E, F and G are working in a 

company in different designations as follows: Chairman, 

MD, CFO, CEO, lead, manager and supervisor but not 

necessarily in the same order. They are taking leave on 

different days. Chairman is the highest position where 

the Supervisor is the lowest position in a company. 

 A takes leave as fourth and immediately before the 

person who is a supervisor. Two persons take leave 

between the person who is a supervisor and B who is a 

lead. The number of persons takes leave after  CEO is 

the same as the number of persons takes leave before 

him. Only one person takes leave between supervisor and 

CFO. Three persons take leave between the chairman 

and B. Four persons take leave between Lead and C. 

More than 4 persons take a leave between C and G. C is 

neither a CFO nor a manager. F neither take a leave 

before A nor after E. 

21.What is the designation of the person who took 

leave immediately before A? 

a) Manager 

b) Lead 

c) CFO 

d) Supervisor 

e) None of these 

22.How many persons are taking leave between B and 

F? 

a) Same as the number of persons take leave after A 

b) Same as the number of persons takes leave before B 

c) Same as the number of persons takes leave before F 

d) Same as the number of persons take leave after F 

e) None of these. 

23.What is the designation of G? 

a) MD 

b) Manager 

c) Lead 

d) CEO 

e) Chairman 

24.How many persons are taking leave after D? 

a) Same as the number of persons takes leave between 

G and B 

b) Same as the number of persons takes leave between 

C and B 
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c) Same as the number of persons takes leave between 

B and A 

d) Same as the number of persons takes leave after E 

e) No one 

25.Which of the following statement is not correct 

regarding person C? 

a) C’s designation is MD 

b) C took leave after E who is chairman 

c) C took leave before G 

d) Number of persons took leave before C is 3 

e) Both c and d 

 

Directions (26-30): Study the following information 

carefully and answer the below questions 

Eight friends Kavi, Kavya, Malar, Mani, Kalai, Karthi, 

Kamal, and  Mala belong to the different designations. 

According to their salary, the designation of the people 

in increasing order are as Clerk, Teacher, Engineer, 

Lawyer, Doctor, Businessman, CEO, and Chairman. 

(clerk has the lowest salary and the chairman has the 

highest salary in the group). 

The number of people gets less salary than Kalai is twice 

as that of the number of people gets less salary than 

Mani. Kalai gets more salary than Kavi but just lesser 

than Kavya. Malar gets just more salary than Kamal. 

Kavi is not a teacher but gets a low salary than Mani. 

The number of people gets more salary than Kavya is 

same as the number of people gets a low salary than 

Kamal. The salary of Mala is more than Karthi but she is 

neither a CEO nor a Businessman. 

26) Who among the following person is Businessman? 

a) Karthi 

b) Mani 

c) Kavi 

d) Malar 

e) Mala 

27) Four of the following five pairs of persons are 

alike in a certain way. Who among the following one 

does not belong to the group? 

a) Mala-Karthi 

b) Kamal-Kavya 

c) Kalai-Mani 

d) Kavya-Kalai 

e) Mani-Malar 

28) Which of the following statement is/are true? 

I. Mala gets the highest salary among them 

II. Karthi gets more salary than Kamal 

III. Designation of Kavya is Lawyer 

a) Only I and III 

b) Only III 

c) Only I and II 

d) Only II 

e) All are true 

29) What is the designation of Mani? 

a) Teacher 

b) Doctor 

c) Lawyer 

d) Engineer 

e) None of the above 
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30) Who among the following gets just more salary 

than Kamal? 

a) The one who is Doctor 

b) The one who is Teacher 

c) The one who is a Businessman 

d) Kavya 

e) Kalai 

Directions (31-35): Study the following information 

carefully and answer the questions given below. 

Seven persons viz. T, U, V, W, X, Y, and Z are working 

in the police department in which their designations are 

Commissioner of Police (CP), Deputy Commissioner of 

Police (DCP), Assistant Commissioner of Police (ACP), 

Superintendent of Police (SP), Inspector of Police (IP), 

Sergeant and Constable but not necessarily in the same 

order. 

Note: The designations are at decreasing order from CP 

is the highest designation whereas constable is the lowest 

designation 

V is three designations higher than the one who is 

designated immediately under Z. The one who 

designated as the least is second lower than U. Only one 

person is designated between X and T where X is higher 

designated than T. Y is neither a Constable nor a DCP, as 

well as X is not designated immediately above or below 

Z. 

31. Who among the following person is the Deputy 

Commissioner of Police? 

a) The one who is immediately senior to T 

b) Z 

c) X 

d) The one who is immediately junior to U 

e) None of these 

32.  How many persons are senior to Z? 

a) One 

b) Two 

c) Three 

d) Four 

e) None 

33. What is the designation of W? 

a) Sergeant 

b) Constable 

c) Inspector of Police 

d) Superintendent of Police 

e) None of these 

34. How many persons are junior to Y? 

a) None 

b) As many persons are senior to U 

c) Two 

d) Three 

e) As many persons are senior to V 

35. How many persons are designated between V and 

W? 

a) One 

b) Two 

c) Three 
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d) Four 

e) None 

Directions (36-40): Study the following information 

carefully and answer the below questions.  

Six persons namely – P, Q, R, S, T, and U holds a 

different designation in Income tax department viz.- 

Commissioner (COM), Additional Deputy 

Commissioner (ADC), Joint Commissioner (JC), Deputy 

Commissioner (DC),  Assistant Commissioner (AC), and 

Income tax Officer (ITO). Each person likes different 

colours viz.- Yellow, Brown, Green, Black, Red, and 

Blue. Designations are given in decreasing order from 

Commissioner to Income tax Officer.  

Only two persons are designated higher to the one who 

likes Black. Three persons are designated between P and 

S, who likes Brown. P is designated higher to the one 

who likes Yellow but not as much as the one who likes 

Black. The one who likes Brown is designated 

immediate next to Q. Neither Q nor R like Black. Two 

persons are designated between T and the person 

designated immediate next to R. One person is 

designated between U and the one who likes Green. 

Deputy Commissioner doesn’t like Red.  

36) What is the designation of the one who likes Red? 

a) ADC 

b) JC 

c) AC 

d) COM   

e)None of these  

37) Who among the following person likes Blue? 

a) ITO  

b) The one who is designated immediate next to Q.   

c) JC  

d) R   

e) None of these  

38) How many persons are designated lower to the 

one who likes Green? 

a) Three  

b) As many as designated between U and the one who 

likes Brown.  

c) Two  

d) As many as person designated higher to S.  

e) None of these  

39) How many persons are designated between T and 

the one who likes Blue?  

a) As many as designated above the one who likes Red.  

b) Two  

c) As many as designated between the one who likes 

Black and S.  

d) Three  

e) Either A or C 

40) Which of the following statement is/are not true? 

I. The one who likes Red is designated immediately 

previous to Commissioner.  

II. Deputy Commissioner is designated immediately 

next to T.   

III. Two persons are designated between Q and the 

one who likes Black.  
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a) Both I and III 

b) Only III  

c) Both II and III  

d) Only II 

e) None of these  

Directions (41-45): Study the following information 

carefully and answer the questions given below. 

Eight persons P, Q, R, S, T, U, V and W are working in a 

company with different grade positions such as CEO, 

MD, GM, DGM, Senior Manager, Manager, Assistant 

Manager and Clerk but not necessarily in the same order. 

Their positions are given in descending order, such as 

CEO as the highest position and Clerk as the lowest 

position. Consecutive alphabetical name of the persons 

doesn’t hold a consecutive grade position. 

Two persons hold a position between W and T. Number 

of persons holds a position higher than V is twice as that 

of the number of persons holds a position higher than P. 

As many persons ranking higher than T is same as that of 

lower than V. R’s grade position is immediately higher 

than U. The grade position of Q is higher than S. 

41. How many persons have a higher grade position 

than R? 

A. 2 

B. 4 

C. 3 

D. 1 

E. R holds the highest position 

42. Who among the following person is General 

Manager? 

A. R 

B. U 

C. V 

D. S 

E. P 

43. The number of persons holds a position higher 

than R is same as that of the number of persons hold 

a position lower than _____? 

A. Q 

B. T 

C. V 

D. S 

E. W 

44. V is a __________? 

A. Assistant Manager 

B. Clerk 

C. GM 

D. DGM 

E. SM 

45. As many persons ranking higher than _____ is 

same as that of lower than _____? 

A. Q, P 

B. R, Q 

C. P,T 

D. U,R 

E. None of those given as an option 
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Directions (46-50): Study the following information 

carefully and answer the below questions. 

There are eight employees of the educational institute 

named as M, N, O, P, Q, R, S and T. They have different 

designations starting from Clerk, Head Clerk, Assistant 

Professor, Professor, HOD, Supervisor, Principal and 

Director. All the designations given are to be considered 

in a given order (as Clerk is considered as Junior-most 

rank and Director is considered as the Senior-most rank).  

Only two persons are junior rank to O. S is three ranks 

senior to Q. Q’s rank is neither immediate above nor 

immediate below to O. R is immediate senior rank to M. 

P is a Head Clerk. N is two ranks junior to M. T is not a 

Supervisor.  

46) Which of the following statement is not true? 

a) R is a Principal. 

b) The one who is Supervisor is immediate senior rank to 

Q. 

c) The one who is Assistant Professor is immediate 

junior rank to N. 

d) Q is a Clerk. 

e) All are true. 

47) Who is the immediate junior rank to the one who 

is Professor? 

a) R 

b) Q 

c) O 

d) S 

e) None of these 

48) Which of the following statement is/are true? 

a) S is Director. 

b) M is immediate senior rank to HOD. 

c) Only two persons are senior rank than Q. 

d) Both a and b 

e) Both b and c 

49) Four of the following five pairs of designations 

and employees have a certain relationship with each 

other. Which one does not belong to the group? 

a) S- Supervisor 

b) M- HOD 

c) Q- Assistant Professor 

d) O- Clerk 

e) N- Head Clerk 

50) Who among the following persons are junior-most 

and senior-most employees respectively? 

a) T, S 

b) Q, R 

c) S, T 

d) R, Q 

e) None of these
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Explanation with Answer 

Directions (1-5): 

1) Answer: B 

2) Answer: C 

3) Answer: E 

4) Answer: D 

5) Answer: C 

Solutions  

 

Explanation: 

• Only three persons are junior to C.  

• A is neither MD nor Clerk.  

• F’s rank is either immediate above or immediate 

below to the person who is a Manager.  

• E is three ranks senior to F.  

• Here, we have to take two cases i.e. Case (1) and 

Case (2). 

 

• B is immediate senior to D.  

• From the above statement, we have to take three 

cases more i.e. Case (1a), Case (2a) and Case 

(2b). 

• Both G and H are junior to A, but both are not 

immediate junior to him 

• H is senior to G.   

. 

Directions (6-10): 

6. Answer: D 

7. Answer: B 

8. Answer: D 

9. Answer: C 

10. Answer: E 
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Solution: 

 

Explanation: 

We have: 

• Only two persons are designated between the one 

who travels to Goa and Coorg.  

• The Assistant Manager is travelling to Daman.  

• The one who is travelling to Coorg is designated 

immediate next to the one who is travelling to 

Leh.  

That means, in case (1) the one who is travelling 

to Leh is a Clerk, in case (2) the one who is 

travelling to Leh is a Manager.  

Based on the above given information we have: 

 

Again, we have: 

• The one who is travelling to Kullu is neither a 

Manager nor the General Manager.  

That means, in case (2) the one who is travelling 

to Kullu is a Clerk, case (1) is not valid.  

Based on the above given information we have the final 

arrangement as follows: 

 

Case (1) is not valid as the one who is travelling to 

Kullu is neither a Manager nor the General Manager.  

Directions (11-15): 

11. Answer B 
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12. Answer C 

13. Answer D 

14. Answer D 

15. Answer A 

Solution: 

 

Explanation: 

• Only two persons are senior to I.  

• Only one person designated between I and N. 

 

• There are more than two persons designated 

between J and N.  

• J is not the junior-most employee.  

• K is senior to J.  

• There are more than two persons designated 

between K and J. 

• L is neither General Manager nor Clerk.  

• M is junior to H.  

• Hence, the final arrangement is: 

 

Directions (16-20): 

16.Answer: d 

17.Answer: c 

18.Answer: a 

19.Answer: e 

20.Answer: b 

Solution: 

Grade positions Persons 

Clerk B 

Officer F 

Manager A 

Senior Manager H 

Chief Manager C 

Assistant General 

Manager 

E 

Deputy General 

Manager 

G 

General Manager D 

Explanation:  

• A is a Manager.  

• Only one person holds a position between A and 

C. 

• From the above condition, there are two 

possibilities. 
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Grade positions Case1 Case2 

Clerk  C 

Officer   

Manager A A 

Senior Manager   

Chief Manager C  

Assistant General 

Manager 

  

Deputy General 

Manager 

  

General Manager   

 

• Only two persons hold a position between C & D. 

• From the above condition, there are three 

possibilities. 

 

• The number of persons holding a higher position 

than D is one less than the number of people 

holding a lower position than F. 

 

• E holds a position higher than F. 

• E is neither Deputy General Manager nor Senior 

Manager. 

• From the above conditions, case1 is dropped. 

 

• Atmost one person holding a position between C 

and G. 

• H is Junior to D but not a Clerk .  

• From the above conditions, Case2 is dropped.  

• Case1a shows the final arrangement. 

Grade positions Case2 Case1a 

Clerk C B 

Officer  F 

Manager A A 

Senior Manager D H 

Chief Manager  C 

Assistant General 

Manager 

F E 

Deputy General 

Manager 

 G 
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General Manager E D 

Direction (21-25): 

21) Answer: c 

22) Answer: d 

23) Answer: b 

24) Answer: b 

25) Answer: e 

Solution: 

Persons Designations 

G Manager 

B lead 

D CFO 

A CEO 

F Supervisor 

E Chairman 

C MD 

Explanation: 

• Here we have statements, 

• A takes leave as fourth and immediately before 

the person who is a supervisor.  

• Two persons take leave between the person who 

is a supervisor and B who is a lead. 

Persons  Designations  

  

B Lead 

  

A  

 Supervisor  

  

  

 

• Only one person took leave between supervisor 

and CFO.  here two possible cases are formed 

i.e., case 1 and case 2 

• Three persons take between the chairman and 

person B. 

• The number of persons taking leave after the 

CEO is the same as the number of persons taking 

leave before him. 

CASE 1 CASE 2 

Persons Designations Persons Designations 

    

B Lead  B lead 

 CFO   

A CEO A CEO 

 Supervisor   Supervisor  

 Chairman   Chairman  

   CFO 

 

• Four persons take leave between Lead and C.  

• C is neither CFO nor manager.  

• Here case 2 is violated because C cannot be CFO.  

• Also, C’s designation is MD as it cannot be 

Manager in case 1. 

CASE 1 CASE 2 

Person

s 

Designation

s 

Person

s 

Designation

s 

    

B Lead B Lead 

 CFO   

A CEO A CEO 

 Supervisor  Supervisor 

 Chairman  Chairman 

C MD C CFO 

 

• More than 4 persons took leave between C and G. 

Hence, G can be the Manager 
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• F neither takes leave before A nor after E.  

• From this we can get, F cannot be placed before 

A also E cannot be placed before F and A.  

• Hence E took leave immediately before C. 

 

Persons Designations 

G Manager 

B Lead 

D CFO 

A CEO 

F Supervisor 

E Chairman 

C MD 

Based on the given information, we have the final 

arrangement as follows: 

Persons Designations 

G Manager 

B lead 

D CFO 

A CEO 

F Supervisor 

E Chairman 

C MD 

Directions (26-30):  

26.Answer: d 

27.Answer: e 

28.Answer: e 

29.Answer: a 

30.Answer: c 

Solution: 

Clerk Kavi 

Teacher Mani 

Engineer Kalai 

Lawyer Kavya 

Doctor Kamal 

Businessman Malar 

CEO Karthi 

Chairman Mala 

Explanation: 

• The number of people gets less salary than Kalai 

is twice as that of the number of people gets less 

salary than Mani. 

• From the above condition, there are three 

possibilities. 

 Case1 Case2 Case3 

Clerk    

Teacher Mani   

Engineer Kalai Mani  

Lawyer   Mani 

Doctor  Kalai  

Businessman    

CEO   Kalai 

Chairman    

• Kalai gets more salary than Kavi but just lesser 

than Kavya. 

• The number of people gets more salary than 

Kavya is same as the number of people gets a low 

salary than Kamal. 

• From the above condition, case2 was dropped. 

 Case1 Case2 Case3 

Clerk Kavi  Kamal 
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Teacher Mani   

Engineer Kalai Mani  

Lawyer Kavya  Mani 

Doctor Kamal Kalai  

Businessman  Kavya  

CEO   Kalai 

Chairman   Kavya 

 

• Kavi is not a teacher but gets a low salary than 

Mani. 

 Case1 Case3 

Clerk Kavi Kamal 

Teacher Mani  

Engineer Kalai Kavi 

Lawyer Kavya Mani 

Doctor Kamal  

Businessman   

CEO  Kalai 

Chairman  Kavya 

 

• Malar gets just more salary than Kamal.  

• The salary of Mala is more than Karthi but she is 

neither a CEO nor a Businessman. 

From the above condition, case3 was dropped. Case1 

shows the final arrangement. 

 Case1 Case3 

Clerk Kavi Kamal 

Teacher Mani Malar 

Engineer Kalai Kavi 

Lawyer Kavya Mani 

Doctor Kamal 

 

Businessman Malar  

CEO Karthi Kalai 

Chairman Mala Kavya 

Directions (31-35):  

31.Answer: a)  

32.Answer: c)  

33.Answer: b) 

34.Answer: e)  

35.Answer: d)  

Solution: 

 

Explanation: 
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1. V is three designations higher than the one who is 

designated immediately under Z. 

 

2. The one designated the least is second lower than 

U. Hence, Case 2 gets eliminated. 

 

3. Only one person is designated between X and T 

where X is higher designated than T. 

 

4. Y is neither a Constable nor DCP, as well as X is 

not designated immediately above or below Z. 

Hence, Case 1, 4 and 4a get eliminated. 

 

Directions (36-40): 

36. Answer: A 

37. Answer: D 

38. Answer: B 

39. Answer: E 
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40. Answer: C 

Solution: 

 

Explanation: 

We have: 

• Only two persons are designated higher to the 

one who likes Black.  

• Three persons are designated between P and S, 

who likes Brown.  

• P is designated higher to the one who likes 

Yellow but not as much as the one who likes 

Black.  

• The one who likes Brown is designated 

immediate next to Q. 

• Neither Q nor R like Black.  

That means, P is Assistant Commissioner, and Q 

is Additional Deputy Commissioner. 

Based on the above given information we have: 

 

Again, we have: 

• Two persons are designated between T and the 

person designated immediate next to R. 

That means, R is deputy commissioner and T 

likes Yellow.  

• One person is designated between U and the one 

who likes Green.  

That means, P likes Green. 

• Deputy Commissioner doesn’t like Red. 

That means, R likes Blue, and Q likes Red. 

Based on the above given information we have the final 

arrangement as follows: 

 

Directions (41-45): 
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41. Answer: E 

42. Answer : E 

43. Answer : D 

44. Answer : E 

45. Answer: A 

Solution  

 

Explanation: 

The number of persons holds a position higher than V is 

twice as that of the number of persons holds a position 

higher than P. 

 

As many persons ranking higher than T is same as that of 

lower than V. 

 

Two persons hold a position between W and T. So the 

case 1 gets eliminated. 

 

R’s grade position is immediately higher than U.Case 3 

is eliminated. 
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The grade position of Q is higher than S.  

 

The final arrangement is- 

 

Directions (46-50): 

46) Answer: D 

47) Answer: C 

48) Answer: D 

49) Answer: B 

50) Answer: A 

Solutions  

 

Explanation: 

There are eight employees of the educational institute 

named as M, N, O, P, Q, R, S and T. They have different 

designations starting from Clerk, Head Clerk, Assistant 

Professor, Professor, HOD, Supervisor, Principal and 

Director. 

Clerk is considered as junior-most rank and Director is 

considered as senior-most rank. 

Only two persons are junior rank to O.  

S is three ranks senior to Q.  

Q’s rank is neither immediate above nor immediate 

below to O.  

R is immediate senior rank to M.  

P is a Head Clerk.  

N is two ranks junior to M.  

http://bit.ly/2WRWaPG


 

Profession Based Puzzle for IBPS RRB Clerk Prelims Exam 
 

Page 22 of 22 

Subscribe Our Yearly Mock Test Pack to Get 1000+ Mock Test for Bank+SSC+Railway Exams 
   

If there are any suggestions/ errors in our PDFs Feel Free to contact us via this email: admin@exampundit.in 

 

T is not a Supervisor.  

 

Case (1) is the final answer. 
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